Drop 2 & 3in Bb
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... Root Position
Root Position 5th. 6th. 5th
(String) 6th, 5th, 6th ’ /
Cm? F7 Bbmaj7 Cm? F7 Bbmaj7
7 | é T # | ]
= ' 3 = : |
=
T 8 1y 5 4 + 3
A 8 19 7 5 * 3
B 8 3 ’
N 8 6 4
1st Inversion 1st Inversion
6th, 5th, 6th 5th, 6th, 5th
5 Cm/Eb F7/A BbMaj7/D Cm’/Eb F7/A BbMaj7/D
== < £ - g |
\QJ)/ r | P . ]
T 4 13 16 8 4 4
A 10 13 P 8 3 7
B 12 6 5
S 44 10 5
2nd Inversion 2nd Inversion
6th, 5th, 6th 5th, 6th, 5th
5 Cm7/G F7/C BbMaj7/F Cm’/G F7/C BbMaj7/F
4 () | | = T E i |
& 2 E. £ : |
S | F |
T 1 4 H ",f' & 16
A b 3 42 16 7 8
B 3 16 8
S 3 43 8
3rd Inversion 3rd Inversion
6th, 5th, 6th 5th, 6th, 5th
- Cm7/Bb F7/Eb BbMaj7/ A Cm7/Bb F7/Eb Bbmaj7/A
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